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14— Bell Ringer
L4 Thursday 1/16

1. You have a bag of marbles. There are 5 blue, & green and 2 orange. You choose 3 marbles one at a time

without replacement. Find the following probabilities: Express answers as decimals. Standard 5A and 5B Retakes due Thurs 2/6

P(blue, blue, blye) = P(blue, green, orange) = P(orange, green, orange) =

2L
7§ .%.%z‘m %%%-:'mq E_.%.’%{bosﬂ

2. You have a bag of marbles. There are 5 blue, 8 green and 2 orange. You choose 3 marbles one at a time with

replacement. Find the following probabilities: Express answers as decimals.
P(blue, blue, blue) = P(blue, green, orange) = P(orange, green, oranfe) =

S5, 53.2 g2
Z Rl & %—/5 023 7? 75 75 =007

Pg:i— PredJ P(3Ured i 16—;
) m_ﬂg (red) 5- ( )52 =)

=.63%8

P(black n odd) = P(Ace) = P(heart N black) =

£5=.192. %:_7.23 o

Jan 8-11:26 AM Jan 8-11:27 AM

REVIEW REVIEW
Explain to your neighbor how to solve for x Explain to your neighbor how to solve for x

7X+_%=_1.7% 14 = 3x -5 + 6x

ﬂ':v_\‘ X_z , Ik'l' q)( —'CD

7 7 - _ m
\fl_:o\x X-z'
T T

Dec 12-2:58 PM Dec 12-2:58 PM

Pass out Ch 6 Reasons for Proofs Which property justifies the step?

Algebraic Properties —
- o B —= 4x+5=11
Addition Property of equality: if a=b, thena+c=b+c —_ 3
Subtraction Property of equality:ifa=b, thena-c=b-c
Multiplication Property of equality: if a = b, then ac = bc — 4X = 6

Division Property of equality: if a = b, then a/c =b/c
Distributive Property: a(b+c)=ab+ac g W‘O‘\"Wﬁ O/\_ P
Properties used for both Equality and Congruence
Reflexive Property: a=a b-’
%Symmetric Property:ifa=b,thenb=a x 6 G K
Transitive Property:ifa=bandb=c,thena=c
Substitution Property: if a = b, then you can replace b with a or a with b in any expression

**Simplifying like termw)

Jan 9-3:22 PM Dec 13-8:29 AM
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Which property justifies the step?

7x =21
- =
x=3

Dinsion ¥

January 16, 2020

Dec 13-8:29 AM

Which property justifies the step?

=_3_2

=-6
mut. P

2 -

X N[X

Which property justifies the step?
ﬁﬁ% )=7

6x-2=7

Wi buke .

Dec 13-8:29 AM

Dec 13-8:29 AM

Which property justifies the step?

—» 5=x

—a x=5

, §medv\‘c, V.

Which property justifies the step?
5x - 2x =24
N\
3x =24

Sule sttwbion -E

Dec 13-8:29 AM

Dec 13-8:29 AM

Which property justifies the step?
-5+3x=10
+o i
3x=15

Dec 13-8:29 AM
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Which property justifies the step?
2+ 7x-5=4x-2x
.~ —

7x -3 =2x
Sesvviton P

Dec 13-8:29 AM

2,02 GIVeN

(9) b. Mult. Prop.

«Sulogh. P.
a S piaton P

e. Substitution

e 4x l
f. %: f. Div. Prop.
g = g. Substitution

&

+
i
z
3

I
=2

January 16, 2020

do #s 2, 4, 6, 8 as part of lesson.

work with partner, on own etc...

Jan 9-3:25 PM

Jan 9-3:26 PM

4. Given: 3x+6=7x-2
Prove: x=2

:3,::5:_7&—2 1 Given

2. 6=4x-2 Z.S'A.b"m"—ib’\

NP  Addition Prop
e JDwvesion Fep

- . Symmetric Fap

6. Gvem Lx+7y=10-y

prove: x=40-32y

Statements Reasons

L v ry=t0-y 1 .\/

Ly o Suin P

i e § tehon P.
MNuAbPlihion B

o . sukshtkin P
CWley D ERImiVT,

Jan 9-3:26 PM

8.

Given: 4—7x=2x-23
Prove: x=3

Jan 9-3:26 PM

UTx=2x2% ||| Given
242 41_&-75 2. &hton P-
“t23% * 2 .. ‘)
3. 21 = 2 Addrran Y.
Y. Divgion P.

G. 5qvv\mh\‘t e

Jan 9-3:26 PM
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due Monday

Hou Algebraic Proofs ws

n the blanks to complete each proof.

January 16, 2020

ddr+6-6=18-6d

1 Givem:8r—5=2c+1
Prove: x = 1
Proof:
Reasons
a8c-5=2+1 a
b.8x—5-2c=2x+1-2¢ b.
c. c. itution Property
d. Addition Property
e
f.
g
2 .
Given: 26— 9
Prove:x =3
f:
| Reasons | Reasons
a a
ege b. Mult. Prop. b
cdx+6=18 e

c. Substitution

d. Subir. Prop.

e dx = e. Substitution

% e. Substitution
I £. Div. Prop. .
& & Substitution

& Substitution

47. Give the reason for each statement in the following two-column proof.

4 Gvem 3r46=7x-2
Prove: x=2

Statements

Reasons

1 3r46=7x-2

2 6=dx-2

5. Guem2-6xtd=dx-ldix
Prove: x=2

Statements

L2-6rid=3x-latx

2 6-6x=3x-l4+x

3. 6-6x=dx-14

4 6=10x-14
5. 20-10x
6 2-x

2

Reasons

fi
6 Given: sx+7y=10-
JrIyslo-y

prove: x=40-32y

Statements

1
LixsTy=10-y
FEHTy=10-y

2 G TyoTymt0-y-7y
1
3 Lecto-s,
H y
a4 Le]-4010-8y)
¥
5. x=4(10-8y)

6. x=40-32y

Reasons

7 GwensS(n-3)=4(2n-7)-14

Prove: n=9

Statements

Reasons

S(n-3)=4(2n-7)-14
2. Sn-15=8n-28-14

3. Su-15-8u-42

4 Sn-15415=8n- 42415
5. Su-n-27

6. Sn-Sn=81-27-%n

8-10. Complete each proof
5

Statements

Reasons

B

Prove:

Reasons

10 Given:

-5)=2(3n-8)-7
4

Prove:

Statements

Reasons

Jan 9-3:20 PM
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